1. Question: SIS A6 @& T7370© 23-

A) FEIGE fRoTE
B) FET%amg ReE
C) @& ba ReE

D) @RHIR RME

Answer: D) @R%IF RoT@

Explanation: - TS 93« 956 JEFEF fEO1RY, (I BT 9F HFET STREAST [ Fq1fze
2%, SCBT SRETET 2 o7

2. Question: I TfEte TIPS fTge B -

A) Soo TH
B) 330 T
C) 300 TH
D) ¢o T

Answer: C) Yoo &

Explanation: I 311G 913 H@IART: ¢o TRE/(TES | Source: desco.org.bd

3. Question: IRTATFT Tﬁm ‘AT -

A) STSHX =IF 1

B) 1 ST A

C) I TET 7

D) S® Sted ST o1

Answer: A) STely TR a1

Explanation: IRNCT 5IAF© ST STOTYX: - (AIET - I - FIF - AP - CTANTPT - (NS -
(AR - A Tl | (SX57a: FH FrE1 @16 IR a3 FH B3 Wfew)

4. Question: (R &1F X1

A) HfbFEmE

B) (EFTI61E
C) fafs e



D) afsireierE
Answer: B) (iS&61F
Explanation: GI&a e fI33% AW - afFreeE

5. Question: & AF-

A) ST2fEF afTs
B) afsifos afso
C) TRfFS afTs
D) &S afis

Answer: D) 36 af¥T (Lactic acid)

Explanation: ST Sfefuel (I AT 529 FE@ A ©1F N5 [fox H5ea afo 9|

6. Question: (FAMG 5T IAF?

A) T2fE afvs
B) TRE@IEIHF A
C) Tefwofas afts
D) afifos afo

Answer: D) afifo& afio (Acetic Acid)

Explanation: - F&0%F AfT, TAHROEF s, ARSI afto, IREF afTs, TREERS afs,
RS TS 2eTIv 2T ST T |

7. Question: AfGITGET FS-

A) @157 AT F3roT Ja F1
B) e (A5 @™y 41

C) ©IRAT R FA]

D) &l &2 FAT

Answer: B) w® (15 f9719T 47 (Quickly cure diseases)

Explanation: - A0S INFEEAT =T 1 ©1F % AR FE| - 97 HT@S (AT T35
2A1F (A (ofF 27 ABI@GF CIAsifee | - (IS MNTRT FE@T AEFISIF (FRR SHID |
T 3: SfonfIea, aFT-q1 T CIfe |




8. Question: ATTFA AF HI(@11-

A) I Sfgw

B) 3519 Sfew

C) JIfFG

D) TP

Answer: D) BB

Explanation: - TR 236 HAR, AF0 oA =11 97 AfSHAF S N 7 TS T TSl
RFRIECY

9. Question: IABFTT BRI A (T HoN6 HG?
A) sfestae

B) famaer

C) o

D) oWl sfemea

Answer: A) Sfesaer

Explanation: TR ¢ el sfe%era 43(@ F1 T FBFE HRAF (ofF Fa71 7|

10. Question: IPWA @157 (FAG?

A) FEET

B) bRTES

C) 2™

D) SfSs

Answer: B) TR%ET

Explanation: (FfR® I&HAF1H AT ST [F231 IF© 1 FIaa1E1d (FIET ST ST IS
fferssfaEa sfae Fafefae 2@ (F© TE|

11. Question: (I Y THTR THEIT AP (NF [FHGTT AFEH M@ TJ1MR© 2F BT 2T

A) I3
B) G <7



C) To% T Iy
D) fame Ty

Answer: B) Gt I
Explanation: - (X I 1R TEET 9% 200 (A F617 II#EH @ 731fRe 27 o1 31 77 faFe 37|

12. Question: freEg SAMH (-
A) o1 8 o

B) ©TT 3 felt@et

C) &1 8 57511

D) ST & T

Answer: B) ©13 8 fae

Explanation: fee 361 O 8 73T (57%) 57 41|

13. Question: @RNeF RFEIE 9F 26 753 AFE Fei(e JATI-

A) aF 36

B) % SIG-561

C) 9% fFEnsIm

D) 9% TS IG-TBT

Answer: C) 9% {18316

Explanation: - SGSfSFSIE, BfG TTIARE [FENSIG-T6] 3@ AN FA1 27| - 9% 933
@16 91T (FG (BOT) 236 AT SREFCT 206 A1 - AT (X {53 3 Af7eny 3 o7 a2 a3@: =797
FAT 2T TIH: >F- o (1T I |

14. Question: TMFTEF ATNF FINF FJ1 2 (FABO?
A) TTATS

B) SfEwATE

C) aféeora

D) T %aAT

Answer: C) F19f361d (Transistor)

Explanation: $f&s (5193 ST 47 $57d fofs F@ 92 39 o F41 27|



15. Question: 3fewa & 3% 33-

A) STEIRGE
B) FANGIH
C) By IRGE
D) (@1

Answer: C) BI@INGE

Explanation: - Sf&d 3f& 413 I@a A (HE1a |

16. Question: J(F AW (IF FA(© I FAT -

A) TEHOEF afS
B) F1ferss afs
C) M2fE= afvs

D) 2% afsto

Answer: A) TS EF AT

Explanation: S (37T A12{&% afG HNO3 8 @(ITe RGP AfG HCL a7 fe@ Frovery a7
ST (JS IET| el AW (JF F© 92 97 75950 3|

17. Question: TIOF CTAAY 8 ARPTATE SRTTH AT J¢T-

A) &1

B) (smffer

C) 8F3

D) =193

Answer: B) (STi&fef

Explanation: - S{fRSIR SIENF® 932 AHFTH SRETT FHIIG! JOIP1H AF RAFS I |

18. Question: x 933 y T&IR AENG TAT J(E (PTG (ST 2T T2

A) x+y+1
B) xy
C) xy+2



D) x+y
Answer: B) xy

Explanation: (I (FTa 730 T3S 207 (1515 A6 (BTG AT F| (I, 1 +3=4©R x +y
(BTG AT 2 F |

19. Question: 9 (5. fil. T AR Jo7 SRS Is(FET (Fawd F67?

A) 584 F. (1. fn.
B) 8> 9. (. fil.

C) v»¥ T. (1. far.
D) »v 3. (¥. fil.

Answer: B) 8> 7. ¢o1. faT.

Explanation: &f¥, I5(F@T IR WF a .*. INEET FCF 7 = Va2 IR INFET (Fava= a2
TGAE, V2a= 9X2 J1, 1@2= 4> T, a2= Db

20. Question: (I FAGEH et =@ Af© FAET B3 77 IREH feaod TAT Fo?

A) So°®
B) S¢o°
C)390°
D) wyo°

Answer: D) wyo°

Explanation: SIF&T S, (FRTET A0 fOa@eR Si3= 180° 918, x+y+z= 180° ............ (i)
A, 9F JFT (@FTr= 180° .". IfR:F (F1T fSAGT @r5%me1=(180°-x)+(180°-y)+(180°-z) =
540°-(x+y+z) = 540°-180° = 360°

21. Question: 5, 9, Y, 50, 8@, XY ==mmmm- AT T W F67?

A) 8¢

B) u¢

C) L3

D) &&

Answer: A) 8¢



Explanation: 33 §T1¥ =fefb 5w Smsta 2f6 Ama T[RETET ME Y S Afofie Ifa 3 o
CTeTEF I8 T @ 2T Y T 7™ 9 o (TF @ b IS 0 @ b+5= 0L T 0 0 L+>= 8¢
U 9 (T 8C+do= ¢

22. Question: B ot F@ (717 @ B1FE 16 7@ A T To5d1 Fo Mo 3X?

A) v%

B) 0%

C)9o%

D) ¢o%

Answer: B) 20%

Explanation: s fo7 T3 b/ BT a3 [T 0/ BIRT S B8 o0 27 b/3-5/0= S/GBTIFT b/o
BIFIT 7T© 2T S/4 BIFT " Soo BIFIF A1 &F (9x500)/b= ¢o BIFI= ¢o%

23. Question: JE@F I foaA3 & (T (Fam Fo3 T MNMT?

A) © 89

B) Sb 8¢

C) 5% 8

D) »

Answer: B) bb 39

Explanation: @& = 2r .". (@4 (Fa%e = TIr2 I feae & (F 2 6r .. T = 3r .. D
(@ (Fa%e @ (3r)? = 9112 .5 8 Jfa A&

24. Question: 936 STFER 5131 =f6 RAG H0 I @E| S GRS 51716 Fo 6 FAE?
A) sBo°

B) x90°

C) wyo°

D) ¢80°

Answer: C) 9bo°

Explanation: s R 5131 & »o IF I3, S (TR FF = 0/Yo T 0/x IF A S IE J&
VYo° L9/} I FF = (WYo° x v)/3 = ¢80°



25. Question: T fS(D FATF SUHT S0 A ©IWF (FHT Fo?

A) »
B) 53
C) 18
D) 5@

Answer: B) b2

Explanation: X0 =8 x ¢ x { JodIR AT OB (THT =8 + ¢ + & = 5@

26. Question: 936 AMOIFIF HE@F W 7% ACHT 8 1T @71 F2fog 7/ w0 No1F 3@ 5967
s Fe?

A) b fSB1E
B) sx fiGrE
C) sv o
D) so fNB1F

Answer: B) s2 617

Explanation: 5§ 7% & 61T 0t (F + 8) BF .. AT = 3(F + F + 8) = 8F + v NoF T,
8F + b =WIJ, F=38/BALF =Y .. Wi = (Y +8) =0 NG

27. Question: V2/(V6+2)= F6?

A) 32

B) V3+2

C) V3+2

D) V32

Answer: C) V3++2

Explanation: V2/(N6+2) =v2(V6-2)/(V6+2)(\V6-2) =(2V3-212)/(6-4) =(2V3-2V2)/2 =3-\2

28. Question: x2-8x-8y+16+y? A7 S & (15T FAE (15T AF0 5Jef I5f @2

A) 4xy
B) 8xy
C) bxy
D) 2xy



Answer: B) 8xy

Explanation: x2-8x-8y+16+y2 = x2+y2+(-4)2+2xy+2y(-4)+2(-4)x-2xy = (x+y-4)2-2xy

29. Question: ABCD 5@%® AB||CD, AC=BD 93 £ A=90°I( N3F 5Qed (F1A6?
A) SRES

B) 735

C) Eifsifen

D) s@e@a

Answer: B) 989

Explanation: (¥ 5@$©H [I778e IRTT T 8 NG A3 ARSHT (F1T 9F FAF, O ANISHa
JET| AT ABJ||CD, AC = BD 3% (@1 A = 90° 9713, ABCD 436 Feal

30. Question: (@6 SR Fuon?

A) S3/5¢

B) /Y

C) SRy

D) 54/58

Answer: B) ¢/b

Explanation: S3/5¢= 0.0 @/b= 0.1 S5/58= 0.9 Y3/3d= 0.1d

31. Question: 0.89" (F VHFT SIRTT AHM© FAE F© Q?
A) 89/>0

B) 89/5»

C) 89/>»

D) 8@/»o

Answer: B) 89/53

Explanation: 0.89" = (89-8)/>0 =8v/>0

32. Question: x2-y*+2y-1 a7 a6 T A°F-



A)x+y+1
B)x-y
C)x-y-1
D)x+y-1

Answer: B) x -y

Explanation: x2-y?+2y-1 = x2-(y2-2y+1) = x2-(y-1)? = (x+y-1)(x-y+1)

33. Question: log28=3v?
A) 4

B) 1

C)2

D)3

Answer: C) 2

Explanation: &fd, 10g28= x 1, 2x=8 =23 .". x=3

34. Question: x3+x2y, x2y +xy2 99 9. .8 (FH(H?

A) xy

B)x+y

C)xy (x+y)

D) x2y (x +y)

Answer: C) xy (X +Y)

Explanation: 3% 1= x3+x2y = x2(x+y) fF61T Ff= x2y +xy2 = xy(x+y) .". TH.8.= X2y (X +y)

35. Question: 936 AR AQEF I=F @ HoF WE 2 NG G 97 Fa%e 3V3 FMEH @0C
7| AR fagEd Ied (7t 672

A) 1 f56F
B) 4 o1
C) 3 it
D) 2 351"

Answer: C) 3 fSib1E



Explanation: S@3fH, W33Te fagoed ameis I1ex ol a At Aesiba Fase = V3a2/4 fagma
oIS =T s 2 NOTT G (Fawe= V3(a + 2)2/4 TIo, V3(a + 2)2/4 - V3a2/4= 3V3 a2 + 4a +
4-a2=124a+4=124a=8a=2..a=20F

36. Question: x-(1/x)=7 2T x3-(1/x)3 A9 A $©7?
A) 334
B) 154
C) 512
D) 364

Answer: C) 512

Explanation: x3-(1/x)3 = (x-1/x)3+3x(1/x)(x-1/x) = 73+3.7 = 364

37. Question: (6 A ={x €N : x2 > 8, x® < 30} T x a7 NOF A (FAG?

A) 2
B)5
C)4
D)3

Answer: B) 5

Explanation: x2 > 8; 92 *($ x 47 M@ (6 P 3, P ={3, 4, 5 ....... } x3 < 30; 9% 1@ x 97 A
CTEQIET, Q={1,2,3)} ST MG x T N@ICH, A=PNQ=(3,4,5...... yN{1,2,3}={3}
38. Question: Choose the correct synonym for 'Extempore’-

A) Planned

B) Improvise

C) Immediate

D) Impromptu

Answer: D) Impromptu

Explanation: Extempore (adjective) English Meaning: Spoken or done without preparation.

Bangla Meaning: 5&f6aT1 31 1551 =1oT (5@ a1 Af6® 31 $9): an extempore speech, $3%e

Jgell Synonym: impromptu, spontaneous, unscripted, ad lib Antonym: rehearsed, planned



39. Question: What is the most appropirate synonym of the word,Menacing' from the
options below:

A) Encouraging
B) Auspicious
C) Promising
D) Alarming

Answer: D) Alarming

Explanation: Menacing (Adjective)

40. Question: Choose the correct antonym for 'Oblige’-
A) Bind

B) Require

C) Censure

D) Bother

Answer: C) Censure

Explanation: - Oblige- accommodate, favor. Bother-annoyance, worry.

41. Question: 'Cynical’

A) Pessimistic
B) Liberal

C) Equivocal
D) Gullible

Answer: A) Pessimistic
Explanation: Antonyms of Cynical - Gullible, optimistic, credulous etc. Synonyms of Cynical -

Pessimistic, bitter, resentful, soured, distorted, disenchanted, disillusioned, disappointed,
sceptical, distrustful, suspicious, misanthropic. Source: Oxford

42. Question: Select the alternative which best expresses the meaning of the given
sentence: "We were no more surprised than Rahman™.

A) We were less surprised than Rahman.



B) We were all surprised.
C) Rahman was less surprised than us.
D) We were as surprised as Rahman.

Answer: D) We were as surprised as Rahman.

Explanation: We were no more surprised than Rahman. SI¥-3Isa1 I20@d (@& (@ e framy
AT aF AN (AT, AF] T2 Jo (Ao fRes- We were as surprised as Rahman.

43. Question: Not once has our neighbour invited us into his house.

A) Our neighbour has invited us into his house not once but many times.
B) Our neighbour has not always invited us into his house .

C) Occasionally our neighbour has invited us into his house .

D) Our neighbour has never invited us into his house .

Answer: D) Our neighbour has never invited us into his house.

Explanation: Not once has our neighbour invited us into his house

44. Question: Choose a suitable word/phrase to fill in the blanks of the given sentence :
Travellers their reservation well in advance if they want to visit the St. Martin's
island.

A) had better to get
B) had to better get
C) had better got
D) had better get

Answer: D) had better get

Explanation: Had better 45 #(d verb a5 base form 071 (IF4- You had better stay here. 9043
o531 had better get IS ‘Sl’*'i[ff?lmz Travellers had better get their reservations well in
advance if they want to fly during the Eid holidays.

45. Question: After food has been dried or canned for later consumption.

A) which should be stored
B) That it should be stored
C) should be stored

D) it should be stored



Answer: C) should be stored

Explanation: - After W@ 8% 28I 92 A& Second clause f& independent clause 2F| - 12
CTT sub+verb structure ¥TFE | - T clause a4 AF2 sub+verb use F© Q|

46. Question: Choose the word/phrase that best retains the meaning o f the underlined
word/phrase in the given sentence: Despite being a brilliant scientist, he does not seem
to "get his ideas across™.

A) put together his ideas

B) get his ideas down pat

C) summarise his ideas

D) make his ideas understood

Answer: D) make his ideas understood

Explanation: Get something across to somebody 97 3% F1S(F % Jae AT 918, make
something understood.

47. Question: What may be considered "courteous" in one culture may be arrogant in
another.

A) flimsy
B) coarse
C) Friendly
D) gracious

Answer: D) gracious

Explanation: Courteous-polite, respectful, or considerate in manner; Gracious-courteous, kind,
and pleasant, especially towards someone of lower social status. Source: Oxford

48. Question: Identify the incorrect word/phrase indicated by (1), (2), (3) or (4) in the
following sentence: "Every" man or woman "should" vote "for" the candidate of "their"
choice.

A) Every (1)
B) should (2)
C) for (3)

D) their (4)



Answer: D) their (4)

Explanation: Singular noun subject T S84 pronoun 8 singular & | Their 21 plural, ©12
AT singular pronoun his/her [ |

49. Question: ldentify the incorrect word/phrase indicated by (1), (2), (3) or (4) in the
following sentence: A doctor may be able "to diagnose" a problem "prefect" but he may
not able to find a drug "to which" the patient "will respond”.

A) to diagnose (1)
B) will respond (4)
C) to which (3)

D) perfect (2)

Answer: D) perfect (2)

Explanation: Verb (F ¥f&%1R & adverb 93 BT verb A =F 07| Diagnose X 1, a7 ST
ATed INEF | perfect A7 B8] I perfectly |

50. Question: Identify the incorrect word/phrase indicated by (1), (2), (3) or (4) in the
following sentence: According to experts a good way "to" "improve" listening skills is
"by" "watch” television, specially news and documentaries.

A)to (1)

B) improve (2)
C) by (3)

D) watch (4)

Answer: C) by (3)

Explanation: By 95 19 gerund(verb+ing) 2 | (2@ watch T 2 watching 2|

51. Question: Choose the pair of words that expresses a relationship similar to that of
the given pair: Words:writer

A) Laws : policeman

B) Joy : emotion

C) Chalk : black board
D) Butter : baker



Answer: A) Laws : policeman

Explanation: Writer work with words and baker with butter.

52. Question: Choose the pair of words that expresses a relationship similar to that of
the given pair: Patron:support

A) spouse : divorce
B) Artist : imitation

C) Restaurant : customer
D) Counselor : advice

Answer: C) Restaurant : customer

Explanation: Patron provides support and counselor provide advice.

53. Question: Choose the pair of words that expresses a relationship similar to that of
the given pair: Heart : human

A) Wall : brick

B) Hand : child

C) Kitchen : house

D) Engine : car

Answer: B) Hand : child

Explanation: Engine and heart respectively keep car and human active.

54. Question: Choose the meaning of the given expressions: “No news is good news”

A) ltis likely that we expect bad news.

B) It is likely to have bad news.

C) It is unlikely that nothing bad has happened.
D) It is likely that nothing bad has happened.

Answer: D) It is likely that nothing bad has happened.

Explanation: “No news is good news” (is a proverb)- without information to the contrary you can
assume that all is well,which means “It is likely that nothong bad has happened”. Source: Oxford



55. Question: A bird in hand is worth two in the bush.

A) It is no good beating about the bush.

B) The seen is better than the unseen.

C) Promises are better than actuals.

D) Take what you have got readily available rather than expecting better in the future.

Answer: D) Take what you have got readily available rather than expecting better in the future.
Explanation: The proverb 'A bird in the hand is worth two in the bush' means that it's better to

have the certainty of a small benefit than the possibility of something great, which means “Take
what you have got readily available rather than expecting better in the future”

56. Question: The sentence 'Who would have thought Shylock was so unkind'
expresses-

A) hyperbole

B) interrogation

C) command

D) wonder

Answer: D) wonder

Explanation: 1 (F8 ©1F fof ©12 FG® 451 JAT© wonder XF |

57. Question: To 'raise one's brows' indicate-

A) annoyance

B) disapproval

C) indifference

D) surprise

Answer: D) surprise

Explanation: To raise one's brows means to cause other people to react with surprise or mild
disapproval.

58. Question: T IRATT IS S 3T IR (FIF T MOT ISTEH 0T MR FEF?

A) o0
B) 0%



C) x003
D) xo%0

Answer: C) x00d

Explanation: - S IR fROTE AT IRIG (ST 331 2R 2050 FEH Yo (F f{0gd NE S
S P TSN S FATF T 1S FE |

59. Question: STIET FNET T SIS (F| TRIH AI30?

A) 1573
B) (AR
C) (&=
D) G186

Answer: C) (S5

Explanation: - (STARTEG SHEEEIT SA@I6! T - S| - SNET 39 8F 07 @3 o e
(A FIAT AP ST 2T | - SHIAET AT 9@ SO (T TS - STOHI I | - SIS
(A T AETA T SRNGH SAYF P SASI T 17| FETS (@ SEnfera g7 ¢ .6,
O~ (STATAHTG TS STINR6

60. Question: BTRC -17 R& T4 (F196?

A) Bangladesh Telephone Regulatory Commission

B) Bangladesh Telephone and Telegraph Regulatory Commission
C) Bangladesh Telecom Regulatory Commission

D) Bangladesh Telecommunication Regulatory Commission

Answer: D) Bangladesh Telecommunication Regulatory Commission

Explanation: BTRC- Bangladesh Telecommunication Regulatory Commission.

61. Question: IRATWT (FISTF NIFRS FIIVTAT (FTAI?

A) BB
B) =&
C) SMATSGT
D) tTAwd

Answer: A) GBS



Explanation: - (MCTF 9263 (R8T FIINTA - SITA|

62. Question: IR@CT White gold (F1916?
A) 2ferT

B) G

C) &1

D) fesf&

Answer: B) 76

Explanation: - IRTCTE White Gold ReTE =fafew B 3= - aw=1%1 o (et 9T 907 231 -
RfePT IRTIICTS STS 1T AT |

63. Question: IRATWCTT (FF (S IRAI-SITS NG HET 972
A) TP

B) STeS T

C) zfs1a

D) FHISF

Answer: C) 2513

Explanation: FHISF (SN IRAT-SITS SN@T NET 97| FHISNF (S IRATTT- NN
BipicERIGH

64. Question: "(TAITFT 8 * AFIF" IRTACTH I (F(@ [FIF A2
A) SFe T TFTST 1

B) SF® Sed T A1

C) 4t I 7375 (@I F77 a1

D) SF® Sed ST a1

Answer: C) 9ft $f¥ fA¥3s @@= o7

Explanation: - CTI{3T 3 SIFI X(ET SR 96 Sre |

65. Question: 'ETIF® F[F B1R' - f6 (F1 ASOTA (ATN?



A) STSHY 1% (4
B) *Nafei «3w@ar
C) TR ety ST
D) farrnfzes (Fa

Answer: B) N1 MA@

Explanation: - ‘SItNfFe e[ 517 20T 9 Wf2ey (Frua cnsne|

66. Question: FRTCCTA TSI TOIPIH E-ECF AT (FTA5?

A) b2 ¢

B) v52 9
C)she v
D) Sos b

Answer: B) b5¢ 9

Explanation: - se1@ fIf& (5593) P ST6IT TOIFIH T2 I 5TE FIJ A2 bosb TV €30 IS
ATCTPIH, BT ATHE IS ST AT A6 1 3| -

67. Question: (F1F (S &7 15N (X2

INIEGI

B) 23513

C) I==TA
D) (TS TSR

Answer: A) &6

Explanation: - TSI (ST TAGWE (@ SN 51 S8 MW 27 | - (TS ASIE (N6
BI-AEEs: T 23 fo1 Source: moulvibazar.gov.bd

68. Question: TN fofate Jzad YA FF (FFG?

A) MfEI

B) CTifw aIrgg

C) frma

D) AT

Answer: A) TSI (Pakistan)



Explanation: - Se1:aTd f&fgte fA0IT TIEE IC T (77 @1 - 9o JISE e AT
FHOITT AR FI3RS FfdW TRQA TN A2 IS | - REA@ AT R 2o TATAZ| -
REERATR T4 BTG 20=-5]31al, ST, J1fe Fonft| T35:- FTETd 39, Worldatlas

69. Question: FCHMF T1d WIF (FIT JIF50?

INENIEE
B) @G
C) fro33s
D) (SeT

Answer: D) (3ol

Explanation: SROTETHISH (G@el¥ A7 g 487 30 |

70. Question: "I Foa" (F F27T?

A) IEEFE (35 ROE
B) F+fam A fReiE
C) fat@= T RoiE
D) (A 516 fRe1&

Answer: D) (@ SHG REE

Explanation: Julius Caesar. Julius Caesar was a renowned general, politician and scholar in
ancient Rome who conquered the vast region of Gaul and helped initiate the end of the Roman
Republic when he became dictator of the Roman Empire. Source: britannica.com

71. Question: ¥ fo3@ET FENTET (FR?

A) FI

B) (G (ST
C) fe@« I 31
D) fafer

Answer: C) To@d Al (]

Explanation: - 5 SP[a ufSfe-5 a7 a5 BT A1 - Y003 NI REAT (AF SISO JIETH
T Sh{F F1FTo! 7 FE| - (PIT AT A1 fufer| 5 foa A= T7em T1dia 778 |



72. Question: (A JTHIT [T "SISTGT FIIH (1 (0T ASTAF?
A) 39

B) AT T

C) 9&%

D) 2@

Answer: A) 2399

Explanation: (A& A& SIOIHT I IFCIAR FIHF |

73. Question: IAHFF SR (STIT T 5oy (@G Ft?

A) TS TG BIffTe
B) forst w1fer®

C) e 1R viffre
D) (@™ o1 Bifere

Answer: A) Ff&H @6 BIfTe
Explanation: af6 Unmanned Aerial Vehicles (UAVs) f#:3a1 Remotely Piloted Aerial Systems

(RPAS) 9138 AfAfbw |

74. Question: IAGANHS 3 TNF TR IF FEAR (FTAG?

A) ST AT
B) fafsifsyfsr

C) &

D) SIS 21

Answer: D) ST ATT

Explanation: - SIGTIGF FRSISTE 3 SN HRISTHE & FER TN AT |

75. Question: 'SFMT" - 97 NMHAFH (@1 CTF?

A) 2

B) (ARG
C) RS

D) (&



Answer: D) (G

Explanation: - 3G Sod AGMGF 3 A HF FINSEF V& Ao aFM JJRS T I (GANEa
235 3-fofire T fRonE SiFe|

76. Question: '(5T6 X' (FIRT HAIF©?

A) faGa

B) Je=12
C) ;i

D) S
Answer: A) {4 (Great Hall is located in Britain)

Explanation: - The magnificent Great Hall of the People is a modern structure in China

77. Question: "o (RTH (MTH N2qW H33?

A) TFI
B) Sl
C) o F%
D) AT

Answer: C) ©199©

Explanation: ITAR-TASS:Informatsionnye Telegrafnoye Agentstvto Rossii—Telegrafnoe
Agentstvo Sovetskovo Soyuza.lt’s a russian news agency. Source: britannica.com

78. Question: JOHN-AF (T T Y& O (-

A) 956 NGET6
B) a3 Ja@ O
C) 936 (FNSSF

D) 236 AGET6H 8 A6 fGAGETea
Answer: A) 936 IQEGA

Explanation: Modem (from “modulator/demodulator”), any of a class of electronic devices that
convert digital data signals into modulated analog signals suitable for transmission over analog
telecommunications circuits. A modem also receives modulated signals and demodulates them.



79. Question: FFITHIF ORAN [F?

A) 9316 FoFEF S
B) 936 HfeF e TFG
C) 236 Bfosas B1FF FIH
D) 236 FfoFTES (N

Answer: D) 930 HfSF1ES (1™
Explanation: Computer virus, a portion of a program code that has been designed to furtively
copy itself into other such codes or computer files. It is usually created by a prankster or vandal

to effect a nonutilitarian result or to destroy data and program code.So,basically it's a harmful
program for computer devices.

80. Question: (FTAG SERAT Feslod FHIAEE SKETCEH Jely SHEN?
NECENR]

B) f¥-31sy

C) #-p¥

D) SI12T

Answer: A) 5971 (Broadband)

Explanation: WiMax is a communication technology for wirelessly delivering high-speed
Internet service to large geographical areas.

81. Question: ‘TF = THNF T+ (FAH?

A) FeH

B) Safy

C) o3

D) A6t

Answer: A) FI

Explanation: 35-5TT%, 8%, A5

82. Question: ‘Subconscious' *=6d I MNfASIIF =1 (M-



A) STEfeee

B) (BodTaR

C) (coeRIT

D) S&Ged
Answer: A) JEfcee

Explanation: Subconscious ~(I5F NS {HAHT T JF (JA[H) TEO NS A, AIGO |

83. Question: (FHMG RE@EF 7?2
A) TEGT

B) forwe

C) ST

D) 57

Answer: B) g

Explanation: f33e, SIemNfa Mo X171 IE61 <i6 2T 938 F] 46 &S |

84. Question: "I ToAT PE®RA-
A) (TT6s w1y

B) Fiex =t

C) o7 89

D) AR A3

Answer: A) (FTT6s1 U

Explanation: I MRR(&1d AHF1H J0T TRR f6© dbe W (1% ST ©F 31 T |

85. Question: (@ % SO AT TAN5f TaT© TA®R?

INEEIE L
B) sifeafe
C) sifara
D) w19

Answer: C) a3

Explanation: 37, Se], 9757, SMET A8 N6 AT Sosf|



86. Question: "TATHI" INIFIRAIG T T6AT?

A) A5 SEITMENT

B) S{AleT STG AT

C) SIS IEHIENH
D) TS5 SEIATHT

Answer: A) T35 SETTETT

Explanation: - 564 SEPIETT ARG AT (b6 bo) IRAT TR(STT TN FHIFIR |

87. Question: "AMERIAT 46 (FTF TN TI(G?

A) FHIT AT
B) SIS ST
C) ©3TFT W
D) 55 ST

Answer: B) SIiTe1d ST

Explanation: (I S5 52 J1 3274 (e 9% = S10® 27 932 T©F TF AY T[0T TSI TN 27 OIF
FRIRRISKEIGH

88. Question: (PG WIfEe =1 FF?

A) TS

B) T

C) 21e9

D) (stefrst

Answer: B) (e

Explanation: (X <@ (FIATSNE2 [HEET FT I J ©I@ (NeTd 1 IET| (INA2 A, T, (ST
SOl it
89. Question: '™IFAT FITF* FIF (T SAWH?

A SIEMTFE IEAETY

B) AN IEET



C) 3679 IETTTIERT
D) el IETsI=EmT

Answer: A) OTSTSS IEATHTT
Explanation: - FT TRf&TF AfAF IERNENT MG f[FTUTS SHATT- TAaIF M (D0 b), 4,

for, MaTafag F17, TRraNGa 2oy, TRAACIF S, AR, RIS, (AF GF 7, THFe"
T, SFATH EF FT, AT 23|

90. Question: FIS| TS 39 A0 51T (FIAG?

INEEEIR]
B) sraaet
C) TRVl
D) =TaIsET

Answer: A) TTHST5T

Explanation: - F18 TS 25 66 STge= "FrOferer| - aft o= gFre 27 vves | a7
SIS 2ET: - TH-(NAFY, - @ I, - aAfy 1911, - Frofersmen

91. Question: "SIMAIET TG F1F T6a1?
A) FTST AT 2F

B) M FMEEH @01

C) 35134 @7 St

D) (2w FAfSTF g2

Answer: A) FI&t AT 2P

Explanation: (IR {399 T2 A6© SE@RTAT (5>58) SHWIN AF NI Y(e-Ab© TN NF
TANSE SN fFE Saffmed M 9 M6 & |

92. Question: "FIT "IN (F [FTAT@N?

A) AN TP
B) A= (G

C) ST I,
D) =¥ (B1y AT

Answer: B) X@H c@&ﬁr



Explanation: - F5¥ (G ‘THIeT R@e( A S0 THINAF T7% 3 F] 5T TFTT FEF | - Si 4
AT (AF O TRAT W28 JFF 417 J3fow 23|

93. Question: (FAD VG IATA?

A) SIFTRAT

B) SR

C) SIFTS

D) ST

Answer: B) SR%FT

Explanation: & 1&FT 0 BF|

94. Question: (FL ' T = SNAF FI?

A) SIfeye

B) NS

C) ==

D) T=F

Answer: D) 9<%

Explanation: {d @& SR < N&Fw, 1Y, IS, Afe, 57, ST, SN, AT, THIzA,
SNF, AT, e, T, BT, =77, AT, I, A8
95. Question: ST Fue 4FF (FAG?

A) 3o

B) */=

C) I%d

D) =R

Answer: A) 3« (Varna)

Explanation: ©F1F Jue¥ 1355 - &

96. Question: ' & 91 I (FS ©1F & (& (1" aff aFfo-



A) ST A1F

B) (QIf5& 1<y

C) frr a1y

D) SfGe I35

Answer: B) (@& 185

Explanation: « '5T e &7 361 (F8 ©1F {1 (F (W3fer- a6 9576 &G F1351

97. Question: ST TRE" FSHTAGT 91X~
A) SferT Fa1

B) ATIRIE a1

C) 83 T

D) fastra-fererT

Answer: C) 91589 %

Explanation: STR=E NI 251 93111 (I3, ©1F IIEF STRA (2|

98. Question: "Qf WX, ©1F I AN Tasl 2F o] (Fa1?' R FTIMLF F6AO] (F?

A) T RIS @
B) FTS ASEE 2T
C) AFwA $1FF

D) 3969 SEITETT

Answer: C) EI?F':F{WW

Explanation: Sf&fb 36w SEIMTE dibw I TR0STE 530 (@G SHNIT ‘FAETHSAT
(5 bY) (AF BIT FAT TAE|

99. Question: BT A f[TIIF SANN (FTA6?
A) 5757 ST

B) 3w 5¥ SN

C) df*1e 98

D) ST+ HIFA

Answer: B) S 5% I3



Explanation: - f2F FIIRET SATNH ANES BIFA SDCC NEF XS (B A@ES 5G| - 'qf e
T DN ARCH T FFIS ST, - T3FS AN G- 157 FAFTT (5 8), - TN
ST 28 A6 SANN- ST TF MNSF (5990) |

100. Question: ) &7 ST F6aT (FEAMG?

A) 2357 fue Fifa

B) RIS AT Si7e
C) 5% FeFS (A&
D) aFTe@ES [Tasfer

Answer: D) 9FT8@F faaafer

Explanation: a3Te@d fTaafer srRiamET 30 Afte fey@a Yol - TETe ST IMFIE (727
TR AT $595 WETH S J1E (@ 19 FEOTF| - LA AMRE AoF- I35 aiia | Je7 (Sifers
fmifie M- T3 TR (3|



